Int. J. Open Problems Compt. Math., Vol. 6, No. 1, March 2013 ISSN 1998-6262; Copyright ©ICSRS Publication, 2013 www.i-csrs.org

Inequalities in Fractional Integrals

Djemaia Bensikaddour and Zoubir Dahmani

LMPA, Faculty SEI, UMAB University of Mostaganem e-mails: bensikaddour@yahoo.fr, zzdahmani@yahoo.fr

Abstract

In this paper, we use the Riemann-Liouville fractional integrals to generate some new integral inequalities involving concave functions. We also establish some other results using positive functions. Other fractional results using Qi inequalities are also presented.

Keywords: Concave function, Riemann-Liouville integral, Qi inequality.

1 Introduction

It is well known that the integral inequalities involving functions of real variables play a fundamental role in the theory of differential equations [2, 3, 8, 9]). Moreover, the fractional type inequalities are of great importance. We refer the reader to [1, 4, 5] for some applications.

In this paper we are concerned with some fractional integral inequalities using positive functions. We also use some concave functions to generate other fractional results. Also, we give some sufficient conditions to study other inequalities of Qi type [7].

2 Basic Definitions

Definition 2.1: A real valued function $f(t), t \ge 0$ is said to be in the space $C_{\mu}, \mu \in \mathbb{R}$ if there exists a real number $p > \mu$ such that $f(t) = t^p f_1(t)$, where

 $f_1(t) \in C([0,\infty[).$

Definition 2.2: A function $f(t), t \ge 0$ is said to be in the space $C^n_{\mu}, \mu \in \mathbb{R}$, if $f^{(n)} \in C_{\mu}$.

Definition 2.3: The Riemann-Liouville fractional integral operator of order $\alpha \ge 0$, for a function $f \in C_{\mu}, (\mu \ge -1)$ is defined as

$$J^{\alpha}f(t) = \frac{1}{\Gamma(\alpha)} \int_{0}^{t} (t-\tau)^{\alpha-1} f(\tau) d\tau; \quad \alpha > 0, t > 0, J^{0}f(t) = f(t),$$
(1)

where $\Gamma(\alpha) := \int_0^\infty e^{-u} u^{\alpha-1} du$.

For the convenience of establishing the results, we give the semigroup property:

$$J^{\alpha}J^{\beta}f(t) = J^{\alpha+\beta}f(t), \alpha \ge 0, \beta \ge 0,$$
(2)

which implies the commutative property

$$J^{\alpha}J^{\beta}f(t) = J^{\beta}J^{\alpha}f(t).$$
(3)

For more details, one can consult [6].

3 Main Results

Theorem 3.1 Let f and g be two positive continuous functions on $[0, \infty[$. Then for t > 0, p > 1, q > 1, we have

$$J^{\alpha}[fg(t)] \le A J^{\alpha}[f^p(t)] + B J^{\alpha}[g^q(t)], \qquad (4)$$

with

$$A = \frac{\|f\|_p^{1-p}\|g\|_q}{p}, B = \frac{\|f\|_p\|g\|_q^{1-q}}{q}.$$

Proof: Let us consider the quantities:

$$F(\tau) = \frac{f(\tau)}{\|f\|_{p}}, G(\tau) = \frac{g(\tau)}{\|g\|_{q}}, \tau \in [0, t], t > 0.$$

Using Young inequality [8], we can write

$$(FG)(\tau) \le \frac{1}{p} (F(\tau))^p + \frac{1}{q} (G(\tau))^q, \tau \in [0, t].$$
(5)

Multiplying both sides of (5) by $\frac{(t-\tau)^{\alpha-1}}{\Gamma(\alpha)}$, then integrating the result with respect to τ from 0 to t, we obtain

$$\frac{1}{\Gamma(\alpha)\|f\|_{p}\|g\|_{q}} \int_{0}^{t} (t-\tau)^{\alpha-1} (fg)(\tau) d\tau$$

$$\leq \frac{1}{p\Gamma(\alpha)} \int_{0}^{t} (t-\tau)^{\alpha-1} \left[\frac{f(\tau)}{\|f\|_{p}} \right]^{p} d\tau + \frac{1}{q\Gamma(\alpha)} \int_{0}^{t} (t-\tau)^{\alpha-1} \left[\frac{f(\tau)}{\|g\|_{q}} \right]^{q} d\tau.$$
(6)

Therefore,

$$\frac{J^{\alpha}[fg(t)]}{\|f\|_{p}\|g\|_{q}} \leq \frac{J^{\alpha}[f^{p}(t)]}{p\|f\|_{p}^{p}} + \frac{J^{\alpha}[g^{q}(t)]}{q\|g\|_{p}^{q}}.$$
(7)

Theorem 3.1 is thus proved.

Our second result is the following theorem.

Theorem 3.2 Let f and g be two positive continuous and concave functions on $[0, \infty[$. Then for $t > 0, \alpha > 0$, we have

$$J^{\alpha}[fg(t)]$$

$$\geq f(0)g(0)\frac{t^{\alpha}}{\Gamma(3+\alpha)} + [f(0)g(t) + f(t)g(0)]\frac{t^{\alpha}}{\Gamma(3+\alpha)} + (fg)(t)\frac{2t^{\alpha+1}}{\Gamma(\alpha+4)}.$$
(8)

Proof: Since f and g are two concave functions, then for all $\tau \in [0, t]$, we can write

$$f(\tau) = f\left((1 - \frac{\tau}{t}) \cdot 0 + \frac{\tau}{t} \cdot t\right) \ge \left((1 - \frac{\tau}{t})f(0) + \frac{\tau}{t}f(t)\right) = h_1(\tau)$$
(9)

and

$$g(\tau) = g\left((1 - \frac{\tau}{t}) \cdot 0 + \frac{\tau}{t} \cdot t\right) \ge \left((1 - \frac{\tau}{t})g(0) + \frac{\tau}{t}g(t)\right) = h_2(\tau).$$
(10)

Therefore,

$$(fg)(\tau) \ge (h_1 h_2)(\tau). \tag{11}$$

This implies that

$$J^{\alpha}[fg(t)] \geq \int_{0}^{t} \frac{(t-\tau)^{\alpha-1}}{\Gamma(\alpha)} \left[\left((1-\frac{\tau}{t})f(0) + \frac{\tau}{t}f(t) \right) \left((1-\frac{\tau}{t})g(0) + \frac{\tau}{t}g(t) \right) \right] d\tau \\ \geq \frac{1}{t^{2}} \left[f(0)g(0)J^{\alpha+2}(1) + (f(0)g(t) + g(0)f(t)) J^{\alpha+1}(t) + f(t)g(t)J^{\alpha+1}(t^{2}) \right].$$
(12)

With simple calculations, we obtain (4).

The following result has some relationship with the paper [7].

Theorem 3.3 Suppose that $\alpha > 0, \delta > 0, 1 < \beta \leq 2, \gamma \geq 2\alpha + 1$ and let $f \in C^1[0, \infty[$ such as $f(0) = 0 \leq f'(x) \leq M; x \in [0, t]$ and

$$\beta(\beta-1)(t-x)^{\delta-1}x^{\beta-1}(Mx)^{\alpha\beta-\gamma}\delta^{2-\beta} - (\gamma-\alpha).$$
(13)

Then the inequality

$$\left[J^{\delta}[f^{\alpha}(t)]\right]^{\beta} \ge \Gamma^{-\beta+1}(\delta)J^{\delta}\left[f^{\gamma}(t)\right]$$
(14)

is valid.

Proof: Let us take t > 0. From $f(0) = 0, 0 \le f'(\tau) \le M, \tau \in [0, x], x \le t$, we obtain

$$0 \le f^{\alpha}(\tau) \le (Mx)^{\alpha}. \tag{15}$$

Multiplying both sides of (15) by $(t - \tau)^{\delta-1}$ and integrating the result over [0, x] with $x \leq t$, we obtain

$$0 \le \int_0^x (t-\tau)^{\delta-1} f^{\alpha}(\tau) d\tau \le \int_0^x (t-\tau)^{\delta-1} (Mx)^{\alpha} d\tau,$$

Hence for all $0 \le x \le t$, we have

$$0 \le \int_0^x (t-\tau)^{\delta-1} f^\alpha(\tau) d\tau \le \frac{t^\delta}{\delta} (Mx)^\alpha.$$
(16)

Now, we define the function

$$F(x) = \left(\int_0^x (t-\tau)^{\delta-1} f^{\alpha}(\tau) d\tau\right)^{\beta} - \int_0^x (t-\tau)^{\delta-1} f^{\gamma}(\tau) d\tau.$$

It's clear that F(0) = 0 and

$$F'(x) = \beta(t-x)^{\delta-1} f^{\alpha}(x) \left(\int_0^x (t-\tau)^{\delta-1} f^{\alpha}(\tau) d\tau \right)^{\beta-1} - (t-x)^{\delta-1} f^{\gamma}(x)$$

= $(t-x)^{\delta-1} f^{\alpha}(x) \left(\beta \left(\int_0^x (t-\tau)^{\delta-1} f^{\alpha}(\tau) d\tau \right)^{\beta-1} - f^{\gamma-\alpha}(x) \right).$ (17)

We notice that $F'(x) = (t - x)^{\delta - 1} f^{\alpha}(x) G(x)$, with

$$G(x) = \beta \left(\int_0^x (t-\tau)^{\delta-1} f^{\alpha}(\tau) d\tau \right)^{\beta-1} - f^{\gamma-\alpha}(x).$$

We have G(0) = 0 and

$$G'(x) = \beta(\beta - 1)(t - x)^{\delta - 1} f^{\alpha}(x) \left(\int_0^x (t - \tau)^{\delta - 1} f^{\alpha}(\tau) d\tau \right)^{\beta - 2}$$

$$-(\gamma - \alpha) f'(x) f^{\gamma - \alpha - 1}(x).$$
(18)

We set $G'(x) = f^{\alpha}(x)H(x)$, where

$$H(x) = \beta(\beta - 1)(t - x)^{\delta - 1} \left(\int_0^x (t - \tau)^{\delta - 1} f^{\alpha}(\tau) d\tau \right)^{\beta - 2} - (\gamma - \alpha) f'(x) f^{\gamma - 2\alpha - 1}(x).$$

From the conditions of Theorem 3.3 and the inequality (15), we get

$$H(x) \ge \beta(\beta - 1)(t - x)^{\delta - 1} \left(M^{\alpha} \frac{x^{\alpha + \delta}}{\delta} \right)^{\beta - 2} - (\gamma - \alpha) M(Mx)^{\gamma - 2\alpha - 1}.$$
 (19)

Therefore,

$$H(x) \ge M^{\gamma - 2\alpha} x^{(\alpha+1)(\beta-2)} \Big[\beta(\beta-1)(t-x)^{\delta-1} M^{\alpha\beta-\gamma} \delta^{2-\beta} - (\gamma-\alpha) x^{\gamma-\alpha\beta-\beta+1} \Big]$$
(20)

Thanks to (13), we deduce that $H(x) \ge 0$, which implies that $G'(x) \ge 0$. Now, since G(0) = 0, we deduce that $G(x) \ge 0, x \in [0, t]$. Finally $F'(x) \ge 0$. And since F(0) = 0, then $F(x) \ge 0$. Hence, we can write

$$\left(\int_0^x (t-\tau)^{\delta-1} f^{\alpha}(\tau) d\tau\right)^{\beta} \ge \int_0^x (t-\tau)^{\delta-1} f^{\gamma}(\tau) d\tau.$$

Therefore,

$$\left[J^{\delta}[f^{\alpha}(t)]\right]^{\beta} \ge \Gamma^{-\beta+1}(\delta)J^{\delta}\left[f^{\gamma}(t)\right].$$

In particular, for x = t, we get the desired inequality (14).

4 Open Problems

In this paper, we have investigated some inequalities of Qi type for fractional integral based on [7] and other inequalities for cancave and positive functions. We will continue exploring other inequalities of this type. At the end, we pose the following problems:

Open Problem 1. In Theorem 3.1, can we find the best constants for the inequality (4)?

Open Problem 2. Do there exist other weak conditions for the results in Theorem 3.3?

References

 G.A. Anastassiou, Fractional Differentiation Inequalities, Springer, (2009).

- [2] D. Bainov, P. Simeonov, Integral Inequalities and Applications, *Kluwer Academic Publishers, Dordrecht, The Netherlands*, (1992).
- [3] L. Bougoufa, Note on Qi type integral inequality, J. Inequal. Pure and Appl. Math., 4(4), (2003), Art. 77.
- [4] Z. Dahmani, S. Belarbi, Some Inequalities of Qi Type Using Fractional Integration, *IJNS*, 10(4), (2010), pp. 396-400.
- [5] Z. Dahmani, L. Tabharit, S. Taf, Some fractional integral inequalities, Nonlinear Science Letters A, 2(1), (2010), pp. 155-160.
- [6] R. Gorenflo, F. Mainardi, Fractional calculus: integral and differential equations of fractional order, *Springer Verlag, Wien*, (1997), pp. 223-276.
- [7] J. Pecaric, T. Pejkovic, On an integral inequality, JIPAM, 5(2), (2004), Art. 47.
- [8] I. Podlubny, Fractional Differential Equations, Academic Press, San Diego, (1999).
- [9] M.Z. Sarikaya, N. Aktan, H. Yildirim, On weighted Chebyshev-Gruss like inequalities on time scales, J. Math. Inequal., 2(2), (2008), pp. 185-195.